HURAKAN

rPU/Ib KOHTAKTHbIA HURAKAN HKN-PE22FT

&

..1.-.1'

. ﬁ«ﬂ

...ﬁ..._

L3
[T
1

Ja
oy

L

\

H%%@f@®ﬁ



rPU/Ib KOHTAKTHbIA HURAKAN HKN-PE22FT

MNos3 HaumeHoBaHue getanun
1 Control panel
2 Apron board
3 Lower heating tube cover
4 Sealing cotton board
5 Terminal fixing plate
6 Bottom plate
7 Qil basin
8 Lower grill plate L
9 Lower heating tube 230/1000W
10 Upper heating tube cover
11 Top cover
12 Rear cover
13 Top grill plate FT
14 Upper heating tube 230/800W
15 Handle frame
16 Main threading tube
17 Upper die axis
18 Rear axle
19 Fastening seat
20 Spring
21 Handle A
22 Handle B
23 Terminal
24 Thermostat 320C
25 Switch on/off
26 Work indicator
27 Wire protector
28 Power cable
29 Feet
30 Knob
31 Small knob film
32 Round head screw m4X6
33 Flat head screw M4X8
34 Round head screw M4X16
35 Socket head cap screw M5X12
36 Round head M5X20
37 Round head screw M5X30
38 Socket head cap screw M6X12
39 Round head screw M6X20
40 Hexagon bolt with cross recess M6X20
41 Hex bolt M6x40
42 Flat head rivet nut M4
43 Nut M4
44 Nut M5
45 Cavity flange nut M5
46 Nut M6
47 Nut M6
48 Flat washer D5
49 Flat washer D5
50 Flat washer D6
51 Flat washer D12
52 Flat washer D14
53 Spring washer D5
54 Spring washer D6
55 Circlip D12
56 Circlip D14

(8]
~

Dowel D4.3X30

HURAKAN



